Solve Two-Digit Word Problems

Solve the addition equations in given word problems. We have solved the first one as an
example for you.

” Jenny had $50 in the wallet and $35 in the closet. How much does she have in total?

Jenny has $85 in total.

g

e Sachin scored 78 runs. Rahul scored 15 runs. How many total runs did they make in
their partnership?

@ My father got 18 shirts on the trip. My mother got 21 dresses for the trip.
How many pieces of clothing did they both get together?




Momé]unction

@ I have 18 fiction novels. My brother has 25 biographies. How many books do
we have in total?

Space for Calculations




